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Q.1 Consider the string given below made up of letters. Which letter will be the eighth letter to
the left of the fifth letter from the right?
(Left) Y VKESGLHONPJRHFMAWIQZATXL (Right)
Ans X 1.J
& 2.H
X3 M
« 4R
Question ID : 630680938128
Option 11D : 6306803676990
Option 2 ID : 6306803676991
Option 3 ID : 6306803676992
Option 4 ID : 6306803676989
Q.2 After interchanging the given two numbers and two signs what will be the values of
equation (1), (1) and (Il)respectively?
+and x, 5and 4
.4+8x5-7+1
I.5x3-4+6+2
M.4+8-6+3x5
Ans o 1.37,-8,42
< 2.21,-9,17
< 3.17,19,-8
X 4.38,9,43
Question ID : 630680937952
Option 11D : 6306803676285
Option 2 ID : 6306803676288
Option 31D : 6306803676287
Option 4 1D : 6306803676286
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Q.3 Select the option that is related to the first number cluster in the same way as the fourth
number cluster is related to the third number cluster and sixth number cluster is related to
fifth number cluster. (NOTE: Operations should be performed on the whole numbers,
without breaking down the numbers into its constituent digits. E.g.13 — Operations on 13
such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)
14:?::26:17577 :: 37 : 50654

Ans X 1.2744
X 2.2775
X 3.2743
& 4. 2745

Question ID : 630680938155

Option 11D : 6306803677098
Option 21D : 6306803677100
Option 31D : 6306803677099
Option 4 ID : 6306803677097

Q.4 In the following question, group of letter clusters is given. The letter clusters of each group
are related with the other letter clusters of the same group by some Logic/Rule/Relation.
From the given alternatives, select the group of letter clusters which follows the same
Logic/Rule/Relation.

(Zo, BR,DQ)
(GR, IS, KT)

Ans X 1.(AR,DS,FT)
% 2. (WC, YD, BE)
« 3. (ER GQ, IR)
2 4. (HV, KW, MX)

Question ID : 630680938058

Option 11D : 6306803676712
Option 2 1D : 6306803676711
Option 31D : 6306803676709
Option 4 1D : 6306803676710

Q.5 In the following question, group of letter clusters is given. The letter clusters of each group
are related with the other letter clusters of the same group by some Logic/Rule/Relation.
From the given alternatives, select the group of letter clusters which follows the same
Logic/Rule/Relation.

(GF, CB, YX)
(BO, XK, TG)

Ans X 1.(LT, GP,CL)
X 2. (UW, QS, LO)
X 3.(FC,BY,XT)
& 4. (QN, MJ, IF)

Question ID : 630680938138

Option 11D : 6306803677032
Option 21D : 6306803677029
Option 31D : 6306803677030
Option 4 ID : 6306803677031
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Q.6 In the following question, select the missing number from the given series.

129,123,117, 111, 105, ?

number cluster is related to the third number cluster and sixth number cluster is related to
fifth number cluster. (NOTE: Operations should be performed on the whole numbers,
without breaking down the numbers into its constituent digits. E.g.13 — Operations on 13
such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)

166:?::151:301::37:73

Ans X 1.97
o 2.99
2 3.9
5 4.98
Question ID : 630680937993
Option 11D : 6306803676450
Option 2 ID : 6306803676452
Option 31D : 6306803676449
Option 4 ID : 6306803676451
Q.7 Aiis the mother of B. B is the son of C. C is the brother of D. D is the sister of E. E is the
husband of F. How many female members are there?
Ans 1.3
X 2.2
X 3.4
X 4.5
Question ID : 630680938212
Option 11D : 6306803677326
Option 21D : 6306803677328
Option 31D : 6306803677325
Option 4 ID : 6306803677327
Q.8 Select the option that is related to the first number cluster in the same way as the fourth

Ans X 1.334
< 2.333
" 3.331
5 4.332
Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

: 630680938156

: 6306803677104
: 6306803677103
: 6306803677101
: 6306803677102
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Q.9 Consider the five three digit numbers given below and the answer the questions based on it.
(Left) 256 147 741 258 852 (Right)

What will be the cube of tens digit of the first number from the left?
Ans o 1.125

X 2.81
X 3.216
X 4.19

Question ID : 630680938210

Option 11D : 6306803677319
Option 21D : 6306803677320
Option 31D : 6306803677317
Option 41D : 6306803677318

Q.10 A is the mother of B. B is the father of C. C is the brother of D. D is the husband of E. E is the
sister of F. How is B related to E?

Ans X 1. Wife's father
& 2. Husband's brother
" 3. Husband's father
X 4. Wife's sister

Question ID : 630680938131

Option 11D : 6306803677004
Option 21D : 6306803677002
Option 31D : 6306803677003
Option 4 ID : 6306803677001

Q.11 In a certain code language, ‘MAZXN' is written as ‘96274’, ‘ZYQAR' is written as ‘32598’,
‘BXMPA' is written as ‘07126’. What can be the code for ‘X’ in that code language?

Ans X 1.0
2.7
X 3.1
X 4.2

Question ID : 630680938205

Option 11D : 6306803677297
Option 2 ID : 6306803677298
Option 31D : 6306803677299
Option 4 ID : 6306803677300
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Q.12 In a certain code language, ‘LEARN'’ is coded as NHCUP, ‘BOOK’ is coded as ‘DRQN’. How
will ‘NEXT’ be coded in that code language?
Ans X 1.PHYW
o 2. PHZW
X 3.PHzZV
X 4.PIZW
Question ID : 630680938084
Option 11D : 6306803676815
Option 21D : 6306803676814
Option 31D : 6306803676816
Option 41D : 6306803676813
Q.13 If14% 4=360and 6 % 5=22,then5%2="?
Ans X 1.66
X 2.46
o 3.42
X 4.54
Question ID : 630680938030
Option 11D : 6306803676600
Option 21D : 6306803676598
Option 31D : 6306803676597
Option 4 ID : 6306803676599
Q.14 Consider the string given below made up of letter and number. If letter U is replaced by 7
then how many 7’s are there in the newly formed string?
TUTUTUU373TUTTT73U3UTTU37
Ans X 1.13
K 2.12
2 3.10
o 411
Question ID : 630680938088
Option 11D : 6306803676830
Option 21D : 6306803676832
Option 31D : 6306803676831
Option 4 ID : 6306803676829
Q.15 In the following question, select the missing number from the given series.
73,74,149, 448, ?
Ans X 1.1794
&02.1792
2 3.1791
o 4.1793
Question ID : 630680937994
Option 11D : 6306803676456
Option 21D : 6306803676454
Option 31D : 6306803676453
Option 4 ID : 6306803676455
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Q.16 If6e8=50and 20 e 8 =232,then9e3 =7
Ans  # 1.45

X 2.65
2 3.100
X 4.125

Question ID : 630680938150

Option 11D : 6306803677078
Option 21D : 6306803677077
Option 31D : 6306803677079
Option 41D : 6306803677080

Q.17 Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and third letter
cluster is related to fourth letter cluster.

NAH : KXE :: AGJ : XDG :: ?
Ans X 1.DAH:AYG
" 2. NDI : KAF
5 3.FRS:I0V
2< 4.NRT:QUW

Question ID : 630680937976

Option 11D : 6306803676383
Option 2 ID : 6306803676381
Option 31D : 6306803676382
Option 4 ID : 6306803676384

Q.18 Arrange the given words in the sequence in which they occur in the dictionary.

1. Indifference
2. Indigenous
3. Indigent

4. Indigo

5. Indignity

Ans X 1.21345
X 2.21354
o 3.12354
X 4.12345

Question ID : 630680938129

Option 11D : 6306803676995
Option 2 1D : 6306803676996
Option 31D : 6306803676994
Option 4 ID : 6306803676993
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Q.19 Select the option that is related to the third number cluster in the same way as the second
number cluster is related to the first number cluster and sixth number cluster is related to
fifth number cluster. (NOTE: Operations should be performed on the whole numbers,
without breaking down the numbers into its constituent digits. E.g.13 — Operations on 13
such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)
38:115::77:?::171:514

Ans X 1.231

X 2.233
X 3.234
& 4.232

Question ID : 630680938195

Option 11D : 6306803677257
Option 21D : 6306803677258
Option 31D : 6306803677259
Option 4 1D : 6306803677260

Q.20 In a certain code language, ‘FORENSIC' is written as ‘LRBWNAXO'. What is the code for
‘GASOLINE' in that code language?

Ans X 1.NWROXBJP
X 2. NWRXOBJP
& 3. NWRUXBJP
< 4. NRWUXBJP

Question ID : 630680938006

Option 11D : 6306803676504
Option 2 1D : 6306803676502
Option 31D : 6306803676501
Option 4 ID : 6306803676503

e and Reasoning ity

Q.1 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

WE, TH, 2, NN, KQ
Ans X 1.0G
o 2.QK
X 3.TL
< 4.SH

Question ID : 630680938066

Option 11D : 6306803676743
Option 21D : 6306803676742
Option 31D : 6306803676744
Option 41D : 6306803676741
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Q.2 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. AllP are Q.
Il. AllQ are R.
Ill. Some S are R.

Conclusions:

I. Some R are S.
Il. Some Q are P.
1Il. Some S are not Q.

Ans X 1. All conclusion follows
#5 2. Both conclusions Il and Ill follows
#5 3. Both conclusions | and Il follows

«# 4. Both conclusions | and Il follows

Question ID : 630680937975
Option 11D : 6306803676380
Option 21D : 6306803676378
Option 31D : 6306803676379
Option 4 1D : 6306803676377
Q.3 From the given option figures, select the one in which the question figure is hidden/embedded. (rotation is
not allowed)
Ans
. .
x 2 ‘ \
K’ 3. ‘
K’ 4. .
Question ID : 630680938227
Option 11D : 6306803677385
Option 21D : 6306803677388
Option 31D : 6306803677387
Option 41D : 6306803677386
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Q.4 Five friends P, B, C, G and H are sitting around a circular table facing towards the centre (not
necessarily in the same order). B is sitting to the immediate left of C. G and H are not the
immediate neighbour of C. H is sitting second to the right of P. Who is sitting second to the
left of B?

Ans X 1.P
X 2cC
3.6
X 4.H

Question ID : 630680937919

Option 11D : 6306803676154
Option 21D : 6306803676155
Option 31D : 6306803676153
Option 4 1D : 6306803676156

Q.5 In the following question, group of letter clusters is given. The letter clusters of each group
are related with the other letter clusters of the same group by some Logic/Rule/Relation.
From the given alternatives, select the group of letter clusters which follows the same
Logic/Rule/Relation.

(SW, UA, WE)
(CT, EX, GB)

Ans o 1. (KX, MB, OF)
X 2.(PJ,RO, TS)
X 3. (HO, JS, MX)
X 4.(MD,01,QL)

Question ID : 630680938019

Option 11D : 6306803676555
Option 21D : 6306803676553
Option 31D : 6306803676556
Option 4 ID : 6306803676554

Q.6 Eight women A, B, C, D, E, F, G and H are sitting around a circular table facing opposite to the
centre (not necessarily in the same order). B is second to the left of H. A is third to the left
of B. D is to immediate right of H. F is fourth to the left of D. C is the immediate neighbour of
H and B. G is second to the right of H. Who is sitting fourth to the right of C?

Ans X 1.E
X 2.D
X 3.6
o 4 A

Question ID : 630680937921

Option 11D : 6306803676163
Option 21D : 6306803676161
Option 31D : 6306803676162
Option 41D : 6306803676164
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Q.7 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

AO, CR, EU, GX, ?
Ans X 1.HZ

o 2. 1A
X 3.HA
p 4

Question ID : 630680937944

Option 11D : 6306803676256
Option 21D : 6306803676254
Option 31D : 6306803676255
Option 41D : 6306803676253

Q.8 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. All L are M.
II. No Nis M.
Ill.NoLisP

Conclusions:
I.NoMis N.
II. NoPis M.
1. No L is N.

Ans X 1. All conclusion follows
X 2. Both conclusions | and Il follows
X 3. Both conclusions Il and 1l follows

" 4. Both conclusions | and Ill follows

Question ID : 630680938214

Option 11D : 6306803677336
Option 21D : 6306803677333
Option 3 ID : 6306803677334
Option 4 ID : 6306803677335

Q.9 Suresh is 27 places ahead of Ashok in the row of 100 students. If Ashok’s position is 37th
from the bottom, what is Suresh’s position from the top?

Ans X 1.38th
X 2.36th
o 3.37th
X 4.35th

Question ID : 630680938161

Option 11D : 6306803677124
Option 2 ID : 6306803677121
Option 31D : 6306803677123
Option 41D : 6306803677122
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Q.10 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I.NoDisE.

Il. Some EareF.
Ill. Some F are G.

Conclusion:
I.LNoDisF

Il. Some D are G.
111. All F are G.

Ans X 1.0nly conclusion | follows
25 2. Only conclusion IlI follows
25 3. Only conclusion Il follows

" 4. Neither conclusion follows

Question ID : 630680937973
Option 11D : 6306803676369
Option 2 ID : 6306803676371
Option 31D : 6306803676370
Option 4 ID : 6306803676372
Q.11 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.MNR
X 2.ERJ
«” 3.DCY
5 4. JKO
Question ID : 630680938221
Option 11D : 6306803677363
Option 2 ID : 6306803677361
Option 31D : 6306803677364
Option 4 ID : 6306803677362

Q.12 In the following question, four letter pairs are given. The letters on left side of (=) is related
to the letters on the right side of (=) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Ans o 1.LP-HU

X 2.GS-TwW

& 3.RA-IE

&< 4.Ql-JIM
Question ID :
Option 11D
Option 2 ID
Option 31D
Option 4 ID

630680938223

: 6306803677369
: 6306803677372
: 6306803677371
: 6306803677370
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Q.13 In the following question, select the odd letter/letters from the given alternatives.

Ans X 1.SUQ
< 2.EGC
«" 3.CFB
X 4.7BX
Question ID : 630680937942
Option 11D : 6306803676248
Option 21D : 6306803676246
Option 31D : 6306803676245
Option 4 ID : 6306803676247
Q.14 In the following question, select the odd letter/letters from the given alternatives.
Ans  4# 1.HGD
X 2.BDG
< 3.CEH
X 4.VXA
Question ID : 630680938022
Option 11D : 6306803676567
Option 2 ID : 6306803676565
Option 31D : 6306803676566
Option 4 ID : 6306803676568
Q.15 5persons M, P, Q, R and S are sitting in a row facing north (not necessarily in the same
order). R is to the immediate left of P. Q is second to the right of M. If P is to the left of Q,
then how many persons are sitting to the right of M?
Ans X 1.0
X 2.1
X 3.3
o 4.2
Question ID : 630680938159
Option 11D : 6306803677115
Option 21D : 6306803677114
Option 31D : 6306803677116
Option 4 ID : 6306803677113

Q.16 6 boxes B1, B2, B3, B4, B5 and B6 are kept one above the other but not necessarily in the

kept below B2. B6 is kept above B3. How many boxes are kept below B6?
X 1.3
X 2.4
5 3.2
o 4.5

Ans

same order. B4 kept at second place from top. Only two boxes are kept below B1. Only B5 is

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937923

6306803676169
6306803676171
6306803676170
6306803676172
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Ans

Q.17 Eight persons namely - John, Michael, Justin, Kim, Kanye, Lebron, Ben and Robert live on

separate floors of an eight-floor building in Kanahiya residency. Ground floor is numbered 1;

first floor is numbered 2 and so on until the topmost floor which is numbered 8. Only two
people live between John and Michael. Ben lives immediately above Kim. Kanye lives
immediately above Justin. Kanye lives above Robert. Lebron lives on an odd-numbered

floor. Only one person lives between Kanye and Robert. John lives on the floor numbered

five. Michael lives above John. Then find, “Lebron” lives on which numbered floor?
X 1.3
X 2.5
< 3.7
o 4.1

Question ID
Option 11D

Option 31D
Option 4 ID

: 630680937963
: 6306803676329
Option 21D :

6306803676331

: 6306803676332
: 6306803676330

Ans

hidden/embedded. (rotation is not allowed)

Q18 From the given option figures, select the one in which the question figure is

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :

630680938027

6306803676585
6306803676588
6306803676587
6306803676586
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@1 Which figure is similar to the given figures?

i

Ans

©
x2| O
®

Question ID : 630680938109
Option 11D : 6306803676913
Option 2 ID : 6306803676915
Option 31D : 6306803676914
Option 4 ID : 6306803676916
Q.20 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.
NF, MH, ?, KL, JN
Ans 1. LJ
&K 2.0K
X 3.JE
X 4.16
Question ID : 630680938224
Option 11D : 6306803677376
Option 2 ID : 6306803677375
Option 31D : 6306803677374
Option 4 ID : 6306803677373
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Q.1 3id ol 30 AEff@a A & fFad AT glar &2

Ans

o 1. SR gIEgeRiyUerse
X 2. AT grsglauTss
X 3. FElA TehIss

X 4. BT gethe

Question ID : 630680939345
Option 11D : 6306803681803
Option 2 ID : 6306803681804
Option 3 ID : 6306803681805
Option 4 ID : 6306803681806
Q.2 Paruveta Utsavam-Ahobilam is celebrated in which of the following states of India?
Ans X 1. Arunachal Pradesh
X 2. Gujarat
X 3. Madhya Pradesh
" 4. Andhra Pradesh
Question ID : 630680939612
Option 11D : 6306803682871
Option 2 ID : 6306803682874
Option 31D : 6306803682872
Option 4 ID : 6306803682873
Q.3 Which Indian state’s drug control department has launched Operation Amrith to check
antibiotics abuse in January 2024?
Ans 4 1. Kerala
5 2. Gujarat
5 3. Maharashtra
5 4.Goa
Question ID : 630680939357
Option 1 ID : 6306803681851
Option 2 ID : 6306803681854
Option 31D : 6306803681853
Option 4 ID : 6306803681852
Q.4 State Wide Attention on Grievances by Application of Technology (SWAGAT), which
completed 20 years in 2023, it is an initiative of which of the following states in India?
Ans X 1. Madhya Pradesh
" 2. Gujarat
X 3.Haryana
5 4. Uttar Pradesh
Question ID : 630680939317
Option 11D : 6306803681691
Option 2 1D : 6306803681692
Option 31D : 6306803681694
Option 4 ID : 6306803681693
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Q.5 Karaivetti bird sanctuary, which has been included in the Ramsar list of wetlands in 2024, is
located in which state of India?

Ans X 1.Assam
X 2.Goa
«# 3. Tamil Nadu
X 4. Sikkim

Question ID : 630680939393

Option 11D : 6306803681996
Option 2 ID : 6306803681997
Option 31D : 6306803681998
Option 4 ID : 6306803681995

Q.6 The first book of Mizo language titled ‘Mizo Zir Tir Bu’ was published in which of the
following year?

Ans X 1.1833
o 2.1896
X 3.1801
X 4.1925

Question ID : 630680939407

Option 11D : 6306803682052
Option 21D : 6306803682053
Option 31D : 6306803682051
Option 4 1D : 6306803682054

Q.7 Who became the President of Argentina in November 2023?
Ans X 1. Daniel Noboa

«# 2. Javier Milei
25 3. Nicolas Maduro
25 4. Gabriel Boric

Question ID : 630680939590

Option 11D : 6306803682783
Option 2 ID : 6306803682784
Option 31D : 6306803682785
Option 4 ID : 6306803682786

Q.8 Who among the following developed the world’s first successful vaccine?
Ans X 1.Blaise Pascal

X 2. Alan Turing
X 3. Theodore Case
" 4. Edward Jenner

Question ID : 630680939389

Option 11D : 6306803681982
Option 21D : 6306803681979
Option 31D : 6306803681980
Option 4 ID : 6306803681981
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Q.9 Who among the following launched the “Marketing and Logistics Development for
Promotion of Tribal Products from North-Eastern Region (PTP-NER)” scheme in Manipur in
April 2023?

Ans X 1. Mukhtar Abbas Naqvi
" 2. Arjun Munda
/% 3. Parshottam Rupala
/X 4. Pashu Pati Kumar Paras

Question ID : 630680939476

Option 11D : 6306803682327
Option 21D : 6306803682328
Option 31D : 6306803682330
Option 4 ID : 6306803682329

Q.10 Mopin festival is celebrated by the tribal people of which state?
Ans X 1.Assam

X 2. Madhya Pradesh
X 3. Andhra Pradesh
" 4. Arunachal Pradesh

Question ID : 630680939531

Option 11D : 6306803682549
Option 21D : 6306803682548
Option 31D : 6306803682547
Option 41D : 6306803682550

Q.11 In June 2023, which of the following became the first oil marketing company in India to
launch a pilot study on E27 fuel and ethanol blended diesel fuel?

Ans o 1. Hindustan Petroleum Corporation Limited (HPCL)
#5 2. Indian Oil Corporation Limited (IOCL)
/5 3. 0il and Natural Gas Corporation (ONGC)
X 4. Gas Authority of India (GAIL)

Question ID : 630680939439

Option 11D : 6306803682182
Option 2 1D : 6306803682179
Option 31D : 6306803682181
Option 4 1D : 6306803682180

Q.12 In May 2023, the President of India launched the ‘Addiction Free’ campaign for which state?
Ans o 1.0Odisha

X 2. Assam
X 3. Kerala
2 4. Sikkim

Question ID : 630680939356

Option 11D : 6306803681850
Option 21D : 6306803681848
Option 31D : 6306803681849
Option 41D : 6306803681847
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Q.13 The Kottigehar dancing frog of the Western Ghats falls into which of the following
categories of the IUCN threatened species list?

#%< 1. Extinct in the Wild
7% 2. Vulnerable

Ans

«# 3. Critically Endangered
25 4. Least Concern

Question ID : 630680939352
Option 11D : 6306803681831
Option 2 ID : 6306803681832
Option 3 ID : 6306803681834
Option 4 ID : 6306803681833
Q.14 Konkani is a major language spoken in which of the following states of India?
Ans X 1. Andhra Pradesh
" 2.Goa
25 3. Sikkim
X 4. Kerala
Question ID : 630680939369
Option 11D : 6306803681900
Option 2 1D : 6306803681902
Option 31D : 6306803681899
Option 4 ID : 6306803681901
Q.15 Which of the following is a hormone which regulates blood glucose level in the body?
Ans X 1.Pepsin
5 2. Trypsin
" 3. Insulin
< 4.Rennin
Question ID : 630680939625
Option 11D : 6306803682925
Option 2 ID : 6306803682923
Option 31D : 6306803682926
Option 4 ID : 6306803682924
Q.16 Satwiksairaj Rankireddy, seen in the news for his Guinness record in July 2023, is
associated with which sports discipline?
Ans X 1. Cricket
& 2. Hockey
X 3.Chess
" 4. Badminton
Question ID : 630680939511
Option 11D : 6306803682470
Option 2 ID : 6306803682469
Option 31D : 6306803682467
Option 4 ID : 6306803682468
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Q.17 Which of the following languages spoken in India is a language of the Austric family?
Ans X 1.Kui

X 2. Konda
" 3. Munda
X 4. Gondi

Question ID : 630680939489

Option 11D : 6306803682382
Option 21D : 6306803682381
Option 31D : 6306803682380
Option 4 1D : 6306803682379

Q.18 Samarth was a demand-driven and placement-oriented umbrella skill program of the

Ministry of Textiles. The implementation period of the scheme was till which of the
following year?

Ans X 1.March 2023
X 2. December 2024
«” 3. March 2024
X 4. December 2023

Question ID : 630680939594

Option 11D : 6306803682800
Option 21D : 6306803682801
Option 31D : 6306803682799
Option 4 1D : 6306803682802

Q.19 Contaminated water and poor sanitation are NOT associated with the transmission of which
of the following diseases?

Ans X 1. Hepatitis A
" 2. Diabetes
X 3. Polio
X 4. Typhoid

Question ID : 630680939469

Option 11D : 6306803682299
Option 2 1D : 6306803682300
Option 31D : 6306803682302
Option 4 ID : 6306803682301

Q.20 Who among the following was the author of "Ashtadhyayi"?
Ans X 1.Bharata Muni

X 2. Amarasimha
X 3. Kalidasa
" 4. Panini

Question ID : 630680939487

Option 11D : 6306803682374
Option 21D : 6306803682372
Option 31D : 6306803682371
Option 41D : 6306803682373
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Q.1 Which of the following states does NOT have a bicameral legislature?
Ans o 1. Tamil Nadu

/< 2. Bihar
75 3. Karnataka
7% 4. Andhra Pradesh

Question ID : 630680939583

Option 11D : 6306803682755
Option 21D : 6306803682757
Option 31D : 6306803682758
Option 41D : 6306803682756

Q.2 How many Articles of the Indian Constitution deals with right to equality?
Ans X 1.3

o 2.5
X 3.2
X 4.4

Question ID : 630680939340

Option 11D : 6306803681784
Option 21D : 6306803681786
Option 31D : 6306803681783
Option 4 ID : 6306803681785

Q.3 Which of the following plants are those in which ovules are not enclosed by an ovary wall?
Ans X 1.Bryophytes

" 2. Gymnosperms
X 3. Pteridophytes
#5 4. Angiosperms

Question ID : 630680939506

Option 11D : 6306803682450
Option 2 1D : 6306803682449
Option 31D : 6306803682448
Option 4 ID : 6306803682447

Q.4 A motion containing the charges against the judge must be approved by in both
Houses of the Parliament of India.

Ans X 1. absolute majority
X 2. simple majority
X 3. effective majority

" 4. special majority

Question ID : 630680939461

Option 11D : 6306803682270
Option 2 ID : 6306803682267
Option 31D : 6306803682269
Option 4 ID : 6306803682268
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Q.5 Which of the following writ means that the court orders that the arrested person should be
presented before it?

Ans X 1. Certiorari
«# 2. Habeas corpus
/%< 3. Mandamus
25 4. Prohibition

Question ID : 630680939459

Option 11D : 6306803682262
Option 2 ID : 6306803682259
Option 31D : 6306803682260
Option 4 ID : 6306803682261

Q.6 Which of the following is NOT included in Capital Expenditure?
Ans X 1.Investment in shares

/X 2. Expenditure on the acquisition of land
/X 3. Loans and advances by the central government to state governments

" 4. Subsidies

Question ID : 630680939361

Option 11D : 6306803681868
Option 2 1D : 6306803681867
Option 31D : 6306803681870
Option 4 ID : 6306803681869

Q.7 Which of the following was the adult literacy rate for women in rural areas as per Census of
India 2011?

Ans o 1.506
X 2.65.4
X 3.72.9
X 4.585

Question ID : 630680939618

Option 11D : 6306803682898
Option 2 ID : 6306803682896
Option 31D : 6306803682895
Option 4 ID : 6306803682897

Q.8 Who among the following addressed the world parliament of religions at Chicago in 1893?
Ans X 1.Ishwar Chandra Vidyasagar

" 2. Swami Vivekananda
& 3. Raja Rammohun Roy

X 4. Swami Dayanand Saraswati

Question ID : 630680939403

Option 11D : 6306803682037
Option 21D : 6306803682038
Option 31D : 6306803682036
Option 4 ID : 6306803682035
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Q.9 Which of the following hills are correctly arranged from west to east?
Ans & 1. Garo Hills, Khasi Hills and Jaintia Hills

< 2. Jaintia Hills, Garo Hills and Khasi Hills
5 3. Khasi Hills, Jaintia Hills, and Garo Hills
5 4. Garo Hills, Jaintia Hills and Khasi Hills

Option 41D :

Question ID : 630680939333
Option 11D : 6306803681755
Option 2 1D : 6306803681757
Option 31D : 6306803681756
Option 41D : 6306803681758
Q.10 Who among the following was the ruler of Delhi during the period 1351-1388?
Ans X 1. Ghiyasuddin Balban
«# 2. Firuz Shah Tughluq
5 3. Ghiyasuddin Tughluq
25 4. Muhammad Tughluq
Question ID : 630680939565
Option 11D : 6306803682685
Option 2 ID : 6306803682686
Option 3 ID : 6306803682683
Option 4 ID : 6306803682684
Q.11 By what name are local hot weather storms known in Assam?
Ans X 1.Blossom Shower
4" 2. Bardoli Chheerha
X 3.Loo
X 4. Mango Shower
Question ID : 630680939576
Option 11D : 6306803682727
Option 2 ID : 6306803682730
Option 31D : 6306803682729
Option 4 ID : 6306803682728
Q.12 Which of the following statements is NOT correct about Luni River?
Ans X 1. The entire river system is ephemeral.
«# 2. It originates from two branches near Govindgarh.
#5 3. The names of its two branches are Saraswati and Sabarmati.
#5 4. The Luni, west of the Aravali, is the largest river system of Rajasthan.
Question ID : 630680939454
Option 11D : 6306803682240
Option 2 ID : 6306803682241
Option 3 ID : 6306803682242

6306803682239
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Q.13 In which city of India is the headquarters of Indian Farmers Fertilizer Cooperative Limited
(IFFCO) located?

Ans X 1. Lucknow
" 2. New Delhi
#5 3. Chandigarh
25 4. Mumbai

Question ID : 630680939322

Option 11D : 6306803681714
Option 2 ID : 6306803681711
Option 31D : 6306803681712
Option 41D : 6306803681713

Q.14 Who among the following proposed the double-helix model for the structure of DNA?

. James Watson
1l. Francis Crick

Ans X 1.0nlyll
" 2.Bothland I

25 3.0nly|
X 4. Neither I nor Il

Question ID : 630680939347

Option 11D : 6306803681812
Option 21D : 6306803681813
Option 31D : 6306803681811
Option 41D : 6306803681814

Q.15 Mahananda is a tributary of which river?
Ans X 1.Ghaghara

" 2. Ganga
X 3. Kosi
& 4. Yamuna

Question ID : 630680939415

Option 11D : 6306803682083
Option 21D : 6306803682086
Option 31D : 6306803682085
Option 4 1D : 6306803682084

Q.16 In which of the following years the nationalization of 14 major commercial banks in India
took place?

Ans X 1.1979
< 2.1989
2 3.1959
o 4.1969

Question ID : 630680939362

Option 11D : 6306803681873
Option 2 1D : 6306803681874
Option 31D : 6306803681871
Option 4 1D : 6306803681872
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Q.17 The power of the Governor to promulgate Ordinances during recess of Legislature is related
to which Article of the Indian Constitution?

Ans o 1. Article 213
75 2. Article 108
25 3. Article 199
5 4. Article 148

Question ID : 630680939503

Option 11D : 6306803682438
Option 2 ID : 6306803682435
Option 31D : 6306803682437
Option 4 ID : 6306803682436

Q.18 In which of the following year the Age specific sex ratios began to be computed in India?
Ans 4 1.1961

X 2.1941
X 3.1991
X 4.1981

Question ID : 630680939497

Option 11D : 6306803682412
Option 21D : 6306803682411
Option 31D : 6306803682414
Option 4 ID : 6306803682413

Q.19 For centuries, rulers belonging to the Gurjara-Pratihara, Rashtrakuta and Pala dynasties
fought for control over

Ans X 1. Ujjain
5 2. Somnath
" 3. Kanauj
< 4. Uraiyur

Question ID : 630680939486

Option 11D : 6306803682367
Option 2 ID : 6306803682369
Option 31D : 6306803682370
Option 4 ID : 6306803682368

Q.20 Who among the following addressed the Congress as President in 18877
Ans X 1.Romesh Chandra Dutt

X 2. Dadabhai Naoroji
" 3. Badruddin Tyabji
X 4. Pherozeshah Mehta

Question ID : 630680939484

Option 11D : 6306803682362
Option 21D : 6306803682360
Option 31D : 6306803682359
Option 4 ID : 6306803682361
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*! What is the unit digit of 52522
Ans X104

X2 8

X3 2

v46

Question ID : 630680937702

Option 11D : 6306803675290
Option 2 ID : 6306803675292
Option 31D : 6306803675289
Option 4 ID : 6306803675291

Q.2  The line chart given below shows the number of trucks crossed XYZ state border on given 5 days.

4000

3200

1400

DL D2 D3 D4 D5

Number of trucks crossed border on day D1 is what percent of the number of trucks that crossed border on day D4?

Ans X 1. 48 percent
#< 2. 425 percent
« 3. 90 percent
« 4. 87.5 percent

Question ID : 630680937699

Option 11D : 6306803675280
Option 2 ID : 6306803675279
Option 31D : 6306803675278
Option 4 ID : 6306803675277

Q.3  What will be the net discount percentage for three successive discounts of 7 percent, 5 percent and 10 percent?

Ans 1. 21.685 percent
« 2. 20.485 percent
X 3. 23.785 percent
X 4. 19.565 percent

Question ID : 630680937715

Option 11D : 6306803675344
Option 21D : 6306803675343
Option 3 ID : 6306803675341
Option 4 ID : 6306803675342
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R 3 % of 44 percent of a number is 480, then what is the number?

Ans X 1. 4100

o 2. 4000
< 34210
&4 4010
Question ID : 630680937509
Option 11D : 6306803674518
Option 2 ID : 6306803674519
Option 3 ID : 6306803674520
Option 4 ID : 6306803674517
Q.5 .
What is the value of 11° + 123 +13° + ~20%
Ans 1. 41055
&2 41075
X 3. 41035
< 4 41085

Question ID : 630680937665

Option 11D : 6306803675144
Option 21D : 6306803675141
Option 31D : 6306803675143
Option 4 ID : 6306803675142

Q.6 The following table shows the number of watches sold by two shops A and B for a period of six years.
Year A B

2017 | 709 365
2018 | 830 592
2019 | 786 258

2020 | 620 280

2021 | 470 415
2022 | 985 890

What is the average number of watches sold by shops A and B in 2020?
Ans  X1. 420
&2 450
<3 410
X 4. 460

Question ID : 630680937739

Option 11D : 6306803675438
Option 2 1D : 6306803675437
Option 31D : 6306803675439
Option 4 ID : 6306803675440
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Q.7 The pie chart given below shows the number of trucks manufactured by six companies in a year in terms of the sectoral

angles representing the shares of these companies in the total number of trucks manufactured by all of them taken
together. The total number of trucks manufactured by all these six companies is 1800.

22°
E
5°

The total number of trucks manufactured by D and F, taken together, is approximately what percent of the total number
of trucks manufactured by G and L taken together?

Ans 1. 260.44 percent
X 2. 140.22 percent
« 3. 220.22 percent

X 4. 234.33 percent

Question ID : 630680937660

Option 11D : 6306803675124
Option 21D : 6306803675122
Option 31D : 6306803675123
Option 4 ID : 6306803675121

Q8 YWhatisthe value of (72+ 9% 7+3)—(36+6x2—4)+ (13 x2+6)?
Ans X 1. 08
X2 87
<3 9]
o4 83
Question ID : 630680937546
Option 11D : 6306803674668
Option 2 ID : 6306803674666
Option 3 ID : 6306803674667
Option 4 1D : 6306803674665
Q.9

What is the valneof 6 0.5 +4.5 =08+ 7.5%02?7
Ans  X'1.12.5
« 2 8.1
<3 341
<4 181

Question ID : 630680937785

Option 11D : 6306803675622
Option 21D : 6306803675624
Option 31D : 6306803675623
Option 41D : 6306803675621
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Q.10 ZLucky’s income is 60 percent more than Rohit’s income, Rohit’s income is 40 percent more than Raju’s income, and

Raju’s income is 25 percent less than Vikas’s income. If the income of Vikas is Rs. 12000, then what is the income of

Lucky?
Ans X 1. Rs. 16800
« 2. Rs. 20160
# 3. Rs. 21600
X 4. Rs. 19600
Question ID : 630680937671
Option 11D : 6306803675167
Option 2 1D : 6306803675168
Option 3 ID : 6306803675165
Option 4 D : 6306803675166
Q11 Which of the following is the greatest?
A
ns x 1. ’{/?
2 \E
X 3. IEJZ
x4 %/?_,
Question ID : 630680937547
Option 11D : 6306803674671
Option 2 ID : 6306803674670
Option 3 ID : 6306803674672
Option 41D : 6306803674669

Q.12 The average of h, i, j and k is 75. If the average of h and i is 25, then what will be the average of j and k?

Ans X1 165

<2 150

3 125

< 4. 160
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937532

6306803674612
6306803674609
6306803674611
6306803674610
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Q.13 The difference between compound interest (compounding annually) and simple interest on a certain sum for 2 years at
the rate of 10 percent per annum is Rs. 360. If the interest is compounded half vearly, then what will be the difference

between compound interest and simple interest on the same sum for one year at 10 percent interest per anmum?

Ans X1 Rs. 75
X2 Rs. 110
< 3. Rs. 100
« 4 Rs. 90

Question ID : 630680937577

Option 11D : 6306803674789
Option 2 1D : 6306803674790
Option 31D : 6306803674792
Option 4 ID : 6306803674791

Q.14 The pie chart given below shows the number of truck sold by 8 different companies (i.e., J, K, L, M, N, O, Pand Q).
The total number of truck sold by all these 8 companies are 12000. The number of truck sold by a particular company is
shown as a percentage of total number of truck sold by all these 8 companies.

P
7%

‘Which of the following statement is correct?

T. The ratio of average number of trucks sold by J and K to the average number of trucks sold by L and Q is 15: 24.
II. The total number of trucks sold by M, N, O and P is 2880.

Ans X 1. Neither I nor II
2. Only I
X 3 OnlyI
X 4. BothIandII

Question ID : 630680937701

Option 11D : 6306803675288
Option 2 ID : 6306803675286
Option 31D : 6306803675285
Option 4 ID : 6306803675287

Q15 WWhat is the average of the cubes of the first 24 natural numbers?
Ans (1. 3950

o 2. 3750

X< 3. 3800

< 4 3650

Question ID : 630680937531

Option 11D : 6306803674608
Option 21D : 6306803674606
Option 31D : 6306803674607
Option 4 1D : 6306803674605
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Q.16 The average marks obtained by 90 students who appeared in an examination is 45. If the average marks of the students

who passed is 80 and the average marks of the students who failed is 35, then what is the number of students who failed
in the examination?

Ans X' 1. 5%
270
< 3. 60
X4 45

Question ID : 630680937493

Option 11D : 6306803674453
Option 21D : 6306803674455
Option 31D : 6306803674456
Option 4 1D : 6306803674454

Q.17 A principal is lent at a certain rate of compound interest (compounding annually). The amount at the end of 2 years is
Rs. 22500 and at the end of 3 years is Rs. 33750. What is the principal?

Ans X 1. Rs. 13000
X 2. Rs. 12700
# 3. Rs. 12500
4. Rs. 10000

Question ID : 630680937496

Option 11D : 6306803674468
Option 2 ID : 6306803674467
Option 31D : 6306803674466
Option 4 ID : 6306803674465

Q.18 If 88 is subtracted from 24 percent of a number, then the result is 1256. What is the value of the number?
Ans X 1. 5500

X 25400

< 3. 5800

« 4 5600

Question ID : 630680937789

Option 11D : 6306803675638
Option 2 ID : 6306803675637
Option 31D : 6306803675640
Option 41D : 6306803675639



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

Q.19 Hiten marks his pen at Rs. 1200 and after allowing a discount of 30 percent, he still earns 20 percent as profit. What is
the cost price of the pen?

Ans 1. Rs. 700
X 2 Rs. 720
X 3. Rs. 600
X 4 Rs. 840

Question ID : 630680937674

Option 11D : 6306803675178
Option 21D : 6306803675177
Option 31D : 6306803675180
Option 4 1D : 6306803675179

Q20 What is the value of (3 x 2 x 4 x 5)— (3 x 7 x 2)?
Ans X1 74

X2 82

X3 74

4 T8

Question ID : 630680937622

Option 11D : 6306803674970
Option 2 1D : 6306803674972
Option 31D : 6306803674969
Option 4 ID : 6306803674971

Q.1 The ratio of the sides of a triangle is 9 : 9 : 2. If the area of triangle is 165 cm?, then what is the length of each of the two
equal sides?

Ans 1. 18 cm
X2 9cm
<3 16 cm
X4 Tcm

Question ID : 630680937610

Option 11D : 6306803674922
Option 2 ID : 6306803674923
Option 31D : 6306803674921
Option 4 ID : 6306803674924
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Ans X 1. 32
2. 40
X3 24
X 4. 48

Q.2 Abox consist of 5 rupees, 2 rupees and 1 rupee coins and their total values are in the ratio of 20 : 10 : 3 respectively. If
there are total 96 coins, then how many 2 rupees coins are there in the box?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937799

6306803675679
6306803675678
6306803675680
6306803675677

Ans

Q-3 1f the area of a circle inscribed ina square is 87 cm?, then what will be the area of the square?

2
¥ 1 32 cm-
9
X2 46 cm”
9
X3 28 cm”
2
X416 cm”
Question ID : 630680937650
Option 11D : 6306803675083
Option 2 ID : 6306803675084
Option 31D : 6306803675082
Option 4 ID : 6306803675081
Q.4 Ifapersoneamns 12.5 percent profit on selling price, then what will be his profit percentage on cost price? [Give your
answer correct to two decimal places.]
Ans X 1. 20.00 percent
X 2. 12.50 percent
X 3. 15.75 percent
« 4. 14.29 percent
Question ID : 630680937512
Option 11D : 6306803674532
Option 2 ID : 6306803674530
Option 31D : 6306803674531
Option 4 ID : 6306803674529
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Q.5 Three numbers are in the ratio of 6 : 5 : 10. If the sum of the largest and the smallest numbers is 7500, then what is the
difference between the largest and the smallest numbers?

Ans 1. 2500
X< 2. 2000
X 3. 1500
X 43000

Question ID : 630680937677

Option 11D : 6306803675190
Option 21D : 6306803675189
Option 31D : 6306803675192
Option 4 ID : 6306803675191

Q.6 Ifthe radius of a cylinder is increased by 50 percent, then by how much percent its height must be reduced, so that the
volume of the cylinder remains same?

Ans 1. 59.44 percent
« 2. 55.56 percent
X 3. 63.78 percent
X 4. 48.67 percent

Question ID : 630680937725

Option 11D : 6306803675384
Option 21D : 6306803675383
Option 31D : 6306803675382
Option 4 ID : 6306803675381

Q.7 If both length and breadth of a cuboid are increased by 25 percent, then by what percent should its height be reduced so
that its volume remains unchanged?

Ans X 1. 28 percent
< 2. 42 percent
« 3. 36 percent
X 4. 32 percent

Question ID : 630680937525

Option 11D : 6306803674581
Option 2 ID : 6306803674583
Option 31D : 6306803674582
Option 4 ID : 6306803674584
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Q.8  The sum of the length, the breadth and the height of a cuboid is 18 cm. If its diagonal is 11 cm long, then what is the

total surface area of the cuboid?

Ans X1 275 em?
X2 139 cm?
3 203 cm?

X4 171 em?

Question ID : 630680937605

Option 11D : 6306803674904
Option 2 ID : 6306803674901
Option 31D : 6306803674903
Option 4 ID : 6306803674902

Q.9  The ratio of three numbers is 8 : 10 : 11. If the sum of the three numbers is 145, then what is the smallest number among

the three numbers?
Ans 1. 40
X230
X3 35
X 460

Question ID : 630680937756

Option 11D : 6306803675508
Option 2 ID : 6306803675505
Option 31D : 6306803675506
Option 4 ID : 6306803675507

Q.10 Three partners A, B and C share profit such that 3 times of the A’s share is equal to 6 times of the B’s share and also
equal to 12 times of the C’s share. What is the ratio of the profits of A, B and C respectively?

Ans 1. 4:2:1

K24:2:5
X3 4:2:7
K4 4:2:3

Question ID : 630680937518

Option 11D : 6306803674554
Option 2 1D : 6306803674556
Option 31D : 6306803674555
Option 4 ID : 6306803674553
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Q.11 The lengths of the two parallel sides of a trapezium are 100 cm and 150 em respectively. If the distance between its
parallel sides is 24 cm, then what is its area?

Ans

# 1. 2000 cm?
% 24000 cm?
%3 1500 cm?
¥ 43000 cm?
Question ID : 630680937689
Option 11D : 6306803675240
Option 2 1D : 6306803675237
Option 31D : 6306803675239
Option 4 ID : 6306803675238
Q.12 X, Y and Z can complete a piece of work in 15 days, 18 days, and 22.5 days respectively. All three of them started the
work together but after 5 days X left the work and Y left the work | day before the work was completed. Z completed
the remaining work alone. In how many days was the total work completed?
Ans X 1. 87/9 days
« 2. 65/9 days
X 3. 20/9 days
X 4. 66/7 days
Question ID : 630680937681
Option 11D : 6306803675205
Option 2 1D : 6306803675207
Option 31D : 6306803675206
Option 4 ID : 6306803675208
Q.13 A person borrows some money for 8 years at a certain rate of simple interest. If the ratio of principal and total interest is
5 : 2, then what is the annual rate of interest?
Ans X 1. 8 percent
X 2. 12 percent
X 3. 7 percent
o 4. 5 percent
Question ID : 630680937494
Option 11D : 6306803674459
Option 2 ID : 6306803674460
Option 31D : 6306803674457
Option 4 ID : 6306803674458
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Q.14 A train moving with the speed of 30 kiv/hr crosses a platform in 16 minutes. If the length of the train and the platform is
same, then what is the length of the platform?

Ans X 1. 4500 metres
< 2. 2800 metres
A3 3200 metres
« 4. 4000 metres
Question ID : 630680937762
Option 11D : 6306803675532
Option 21D : 6306803675529
Option 31D : 6306803675530
Option 4 ID : 6306803675531
Q.15 Ifthe length of the side of a square increase by R percent, then the area of the square increases by 96 percent. What is
the value of R?
Ans 1. 40 Percent
< 2. 20 Percent
X 3. 60 Percent
< 4. 80 Percent
Question ID : 630680937670
Option 11D : 6306803675162
Option 21D : 6306803675161
Option 31D : 6306803675163
Option 41D : 6306803675164
Q.16 Mohan bought a new cycle from the showroom and after one year he sold it to Shyam at a profit of 20 percent. Shyam
sold the same cycle to Sumit at the loss of 40 percent. Finally Sumit paid Rs. 57600 for this cycle. At what price Mohan
bought the cycle?
Ans 1. Rs. 88000
+ 2. Rs. 80000
« 3. Rs. 90000
X 4 Rs. 85000
Question ID : 630680937513
Option 11D : 6306803674535
Option 21D : 6306803674534
Option 31D : 6306803674536
Option 41D : 6306803674533
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Q.17 Vijay’s efficiency is 190 percent of Vinod’s efficiency. If Vijay alone can complete a work in 29 days, then how many
days will they together take to complete the same work?

Ans

X 1. 29 days
X 2. 25 days
X 3. 27 days
« 4. 19 days
Question ID : 630680937520
Option 11D : 6306803674563
Option 2 ID : 6306803674561
Option 31D : 6306803674564
Option 4 ID : 6306803674562
Q.18 Two stations G and H are 845 km apart from each other. A train leaves from G to H and simultaneously another train
leaves from H to G. Both trains meet after 13 hours. If the speed of the first train is 5 km/hr more than the second train,
then what is the speed of the slower train?
Ans K1 42 km/hr
A 2. 36 km/hr
+ 3. 30 km'hr
X 4 24 kmv/hr
Question ID : 630680937764
Option 11D : 6306803675538
Option 2 ID : 6306803675540
Option 31D : 6306803675539
Option 4 ID : 6306803675537
Q.19 A person lent Rs. 20000 to B for 3 years and Rs. 16000 to C for 4 years at the same rate of simple interest and received
a total of Rs. 9300 from them as interest. What was the annual rate of interest?
Ans X 1. 9 percent
X 2. 8 percent
X 3. 9.5 percent
« 4. 7.5 percent
Question ID : 630680937535
Option 11D : 6306803674623
Option 21D : 6306803674622
Option 31D : 6306803674624
Option 4 ID : 6306803674621
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Q.20 The speed of a stream is 6 kin/hr and the speed of a boat in still water is 18 knvhr. How much total time will the boat
take to cover the distance of 6 km upstream and 12 km downstream?

Ans X1, 2 hours
X 2. 4.5 hours
X 3. 0.5 hour
+ 4 | hour

Question ID : 630680937523

Option 11D : 6306803674574
Option 2 1D : 6306803674573
Option 31D : 6306803674575
Option 4 ID : 6306803674576

Q.1 Fill in the blank with the correct conjunction:

You can have cake ice cream for dessert. Both would be too much.
Ans X 1.nor

& 2.and
5 3. but
o 4.0r

Question ID : 630680938350

Option 11D : 6306803677866
Option 21D : 6306803677863
Option 31D : 6306803677864
Option 4 ID : 6306803677865

Q.2 Rearrange the following sentences to form a coherent paragraph and choose the correct
sequence from the options given below:

A. He is also known for his outspoken views on various social and political issues, such as
net neutrality, artificial intelligence, cryptocurrency, and health care.

B. Mark Cuban is an American billionaire entrepreneur, investor, media personality, and
owner of the Dallas Mavericks, a professional basketball team in the National Basketball
Association (NBA).

C. He began his career as a software developer and founded several successful companies,
such as Micro Solutions, Broadcast.com, and HDNet, before becoming an influential figure
in the tech industry.

D. He is also one of the main “shark” investors on the ABC reality television series, Shark
Tank, where he invests in various startups and small businesses.

Ans X 1.CBAD
& 2. BCAD
< 3.ABCD
< 4.DBCA

Question ID : 630680938396

Option 11D : 6306803678037
Option 21D : 6306803678036
Option 31D : 6306803678035
Option 41D : 6306803678038
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Q.3 Fillin the blank with the correct preposition:

This book was written J.K. Rowling.
Ans X 1.with

& 2.in
«" 3. by
X 4.on

Question ID : 630680938480

Option 11D : 6306803678350
Option 2 ID : 6306803678347
Option 31D : 6306803678349
Option 4 1D : 6306803678348

Q.4 Select the word segment that substitutes (replaces) the bracketed idiom correctly and
completes the sentence meaningfully.

He (broke the ice) by telling a funny joke at the start of the meeting.
Ans X 1.cooled the atmosphere

4 2. started a conversation
X 3. made everyone laugh
/< 4. caused a problem

Question ID : 630680938443

Option 11D : 6306803678214
Option 21D : 6306803678212
Option 31D : 6306803678211
Option 41D : 6306803678213

Q.5 Select the word segment that substitutes (replaces) the bracketed idiom correctly and
completes the sentence meaningfully.

She (broke the ice) by telling a funny joke at the start of the meeting.
Ans 4 1. started talking

X 2. ended the conversation
5 3. made everyone laugh

X 4. started a fight

Question ID : 630680938356

Option 11D : 6306803677888
Option 21D : 6306803677890
Option 31D : 6306803677887
Option 41D : 6306803677889
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Q.6 Fill in the blank with the correct part of speech:

She studied hard that she could pass the test.
Ans X 1.inorderto

o 2.s0
/X 3. because

X 4. but

Question ID : 630680938522

Option 11D : 6306803678506
Option 2 1D : 6306803678504
Option 31D : 6306803678503
Option 4 1D : 6306803678505

Q.7 Choose the option which is antonym of (opposite of) the word ‘'magnanimous’ in the
sentence given below

He was a magnanimous leader who forgave his enemies and treated them with kindness.
Ans X 1.generous
X 2. gracious
« 3. spiteful
< 4.noble

Question ID : 630680938448

Option 11D : 6306803678232
Option 21D : 6306803678234
Option 3 1D : 6306803678231
Option 41D : 6306803678233

Q.8 Choose the correct one-word substitution for the sentence/phrase given below:

A collection of weapons and military equipment
Ans X 1.Burrow

X 2. Cache
" 3. Arsenal
& 4. Asylum

Question ID : 630680938526

Option 11D : 6306803678521
Option 21D : 6306803678522
Option 31D : 6306803678519
Option 4 ID : 6306803678520
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Q.9 Fill in the blank with the correct article:

Pyramids of Giza are a famous landmark in Egypt.
Ans X 1.An

5 2.no article

X 3.A
" 4.The

Question ID : 630680938299

Option 11D : 6306803677672
Option 21D : 6306803677674
Option 31D : 6306803677671
Option 41D : 6306803677673

Q.10 Choose the option which is synonym of the word "hide" in the sentence given below:

He tried to hide his true feelings from her.
Ans 4 1. harbour

25 2. reveal
5 3. disclose
X 4. expose

Question ID : 630680938320

Option 11D : 6306803677756
Option 2 ID : 6306803677755
Option 31D : 6306803677758
Option 4 ID : 6306803677757

Q.11 Choose the correct one-word substitution for the sentence/phrase given below:

Safe to drink
Ans  4# 1. Potable

25 2. Regalia
< 3. Sacrilege
25 4. Sinecure

Question ID : 630680938441

Option 11D : 6306803678203
Option 2 ID : 6306803678204
Option 31D : 6306803678205
Option 4 ID : 6306803678206
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Q.12 Fill in the blank with the correct article:

Option 41D :

They saw elephant and zebra at the zoo amongst many other animals.
Ans X 1.an,an
& 2.a,an
o 3.an,a
X 4.aa
Question ID : 630680938348
Option 11D : 6306803677858
Option 2 ID : 6306803677856
Option 31D : 6306803677857
Option 4 ID : 6306803677855
Q.13 Fill in the blank with the appropriate article:
She is only child in her family.
Ans  # 1.the
25 2.no article
& 3.an
X 4a
Question ID : 630680938476
Option 11D : 6306803678333
Option 2 1D : 6306803678334
Option 31D : 6306803678332
Option 4 ID : 6306803678331
Q.14 Fill in the blank with the correct part of speech:
She hid the letter the books.
Ans X 1.through
«# 2. behind
25 3. over
25 4. across
Question ID : 630680938308
Option 11D : 6306803677708
Option 2 ID : 6306803677710
Option 31D : 6306803677707

6306803677709
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Q.15 Fill in the blank with the correct preposition:

He ran the glass door and bumped his head.
Ans X 1.from

& 2.in
«# 3.into
X 4. towards

Question ID : 630680938561

Option 11D : 6306803678650
Option 21D : 6306803678647
Option 31D : 6306803678649
Option 4 1D : 6306803678648

Q.16 Fill in the blank with the correct preposition:

He did the work a hurry.
Ans X 1.with

& 2.0on
5 3. by
 4.in

Question ID : 630680938518

Option 11D : 6306803678490
Option 2 1D : 6306803678488
Option 31D : 6306803678489
Option 4 ID : 6306803678487

Q.17 Select the word segment that substitutes (replaces) the bracketed idiom correctly and
completes the sentence meaningfully.

He (called it a day) after finishing his report.
Ans X 1.praised himself

/X 2. made a phone call
4" 3. decided to stop working further
X 4. quit his job

Question ID : 630680938486

Option 11D : 6306803678373
Option 2 1D : 6306803678374
Option 31D : 6306803678372
Option 4 ID : 6306803678371
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Q.18 Given below is a sentence with an error in the underlined segment. Say which of the options
can replace the segment to make the sentence grammatically correct. If there is no error,
choose ‘No error’

He is an only child in the family.
Ans & 1.the only child

Z5 2. aonly child
#< 3.no error
75 4. only child

Question ID : 630680938562

Option 11D : 6306803678652
Option 21D : 6306803678651
Option 31D : 6306803678654
Option 41D : 6306803678653

Q.19 Choose the option which is synonym of the word "frugal” in the sentence given below:

He was a frugal person who saved every penny.
Ans X 1. wasteful

& 2. lavish
X 3. extravagant
o 4. thrifty

Question ID : 630680938404

Option 11D : 6306803678068
Option 21D : 6306803678070
Option 31D : 6306803678067
Option 41D : 6306803678069

Q.20 Choose the correct one-word substitution for the sentence/phrase given below:

An unconventional style of living
Ans X 1. Contemporaries

" 2. Bohemian
25 3. Chauvinist

X 4. Connoisseur

Question ID : 630680938398

Option 11D : 6306803678046
Option 21D : 6306803678043
Option 3 1D : 6306803678044
Option 4 1D : 6306803678045
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spelling error. If there are no errors, choose No error option.

The explorer traversed/ the treacherous terrains/ with unparalled skill.
Ans  # 1. with unparalled skill.

X 2. the treacherous terrains
X 3. No error

X 4. The explorer traversed

Q.1 The sentence given below is divided in to three segments Choose the segment which has a

Question ID : 630680938538
Option 11D : 6306803678569
Option 2 1D : 6306803678568
Option 31D : 6306803678570
Option 4 ID : 6306803678567
Q.2 Choose the word that best completes the sentence:
He had to the rope to make a knot.
Ans X 1.no
X 2. now
" 3. gnaw
X 4. know
Question ID : 630680938407
Option 11D : 6306803678079
Option 2 1D : 6306803678081
Option 31D : 6306803678082
Option 4 ID : 6306803678080
Q.3 Choose the homonym for "role"
Ans X 1.Whole
75 2. Rowel
/< 3.Rile
« 4. Roll
Question ID : 630680938536
Option 11D : 6306803678561
Option 2 1D : 6306803678560
Option 31D : 6306803678562
Option 4 ID : 6306803678559
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Q.4 Choose the word that best completes the sentence:

She loves to read books in her spare

Ans X 1.dime
5 2. rhyme
o 3.time
X 4. thyme
Question ID : 630680938321
Option 11D : 6306803677761
Option 2 1D : 6306803677762
Option 31D : 6306803677759
Option 4 1D : 6306803677760
Q.5 Choose the most appropriate meaning of the idiom given below:
Birds of a feather flock together
Ans  4# 1. People who are alike are often friends
5 2. Changes and new experiences make life more enjoyable
5 3. Agree or have the same opinion as someone else
/X 4. The feeling of success or accomplishment
Question ID : 630680938530
Option 11D : 6306803678535
Option 2 1D : 6306803678538
Option 31D : 6306803678536
Option 4 ID : 6306803678537

Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Swiss knife, with its origin dating back to the late 19th century, is renowned for its (1)
design. Initially created as a compact and (2) tool, it gained popularity

due to its multifunctionality, serving as a(n) (3) tool for various situations.

The inventor, Karl Elsener, drew inspiration from the idea of crafting a versatile tool that could

also be adapted to (4) situations. As a result, the Swiss knife evolved from its (5)

origins to become an iconic and indispensable tool, transcending its initial
purpose.

SubQuestion No : 6

Q.6 Select the most appropriate option to fill in blank number 1.

Ans X 1.Bold

5 2. Colourful

" 3. Sleek

75 4. Bulky
Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

1 630680938325

1 6306803677771
: 6306803677774
: 6306803677772
: 6306803677773
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Swiss knife, with its origin dating back to the late 19th century, is renowned for its (1)
design. Initially created as a compact and (2) tool, it gained popularity

due to its multifunctionality, serving as a(n) (3) tool for various situations.

The inventor, Karl Elsener, drew inspiration from the idea of crafting a versatile tool that could

also be adapted to (4) situations. As a result, the Swiss knife evolved from its (5)

origins to become an iconic and indispensable tool, transcending its initial

purpose.

SubQuestion No : 7

Q.7 Select the most appropriate option to fill in blank number 2.
Ans X 1.quick

X 2. variable
«# 3. versatile
X 4. good
Question ID : 630680938326
Option 11D : 6306803677775
Option 2 1D : 6306803677778
Option 3 ID : 6306803677777
Option 4 ID : 6306803677776
Comprehension:
A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:
The Swiss knife, with its origin dating back to the late 19th century, is renowned for its (1)
design. Initially created as a compact and (2) tool, it gained popularity
due to its multifunctionality, serving as a(n) (3) tool for various situations.
The inventor, Karl Elsener, drew inspiration from the idea of crafting a versatile tool that could
also be adapted to (4) situations. As a result, the Swiss knife evolved from its (5)
origins to become an iconic and indispensable tool, transcending its initial
purpose.
SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number 3.
Ans X 1.Limited-purpose
" 2. All-purpose
X 3. Specialized
X 4. Exclusively culinary
Question ID : 630680938327
Option 11D : 6306803677781
Option 2 ID : 6306803677782
Option 3 ID : 6306803677779
Option 4 1D : 6306803677780
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Q.9
Ans

Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Swiss knife, with its origin dating back to the late 19th century, is renowned for its (1)
design. Initially created as a compact and (2) tool, it gained popularity

due to its multifunctionality, serving as a(n) (3) tool for various situations.

The inventor, Karl Elsener, drew inspiration from the idea of crafting a versatile tool that could

also be adapted to (4) situations. As a result, the Swiss knife evolved from its (5)
origins to become an iconic and indispensable tool, transcending its initial

purpose.

SubQuestion No : 9
Select the most appropriate option to fill in blank number 4.
< 1. Rancorous

«# 2. Extreme and diverse

X 3. Limited
7% 4. Specific
Question ID : 630680938328
Option 11D : 6306803677783
Option 21D : 6306803677784
Option 31D : 6306803677786
Option 4 ID : 6306803677785
Comprehension:
A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:
The Swiss knife, with its origin dating back to the late 19th century, is renowned for its (1)
design. Initially created as a compact and (2) tool, it gained popularity
due to its multifunctionality, serving as a(n) (3) tool for various situations.
The inventor, Karl Elsener, drew inspiration from the idea of crafting a versatile tool that could
also be adapted to (4) situations. As a result, the Swiss knife evolved from its (5)
origins to become an iconic and indispensable tool, transcending its initial
purpose.
SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank number 5.
Ans X 1.Humourous
" 2. Humble
X 3. Experimental
& 4. Humiliating
Question ID : 630680938329
Option 11D : 6306803677789
Option 2 ID : 6306803677787
Option 3 ID : 6306803677790
Option 4 1D : 6306803677788
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

"The Social Network," directed by David Fincher and released in 2010, is a cinematic
masterpiece that chronicles the tumultuous rise of Facebook and its enigmatic founder, Mark
Zuckerberg. The film, based on Ben Mezrich's book "The Accidental Billionaires," captures the
essence of the internet age and the complexities of friendship, betrayal, and ambition. Jesse
Eisenberg delivers a compelling portrayal of Zuckerberg, showcasing his genius and
interpersonal challenges. The screenplay, penned by Aaron Sorkin, weaves a narrative that
explores the legal battles and personal conflicts surrounding the creation of the social media
giant. The film delves into the dynamic relationships between Zuckerberg, Eduardo Saverin
(played by Andrew Garfield, and Sean Parker (portrayed by Justin Timberlake). It skilfully
navigates the ethical dilemmas and moral ambiguities that accompany the pursuit of success
in the tech industry. "The Social Network" not only serves as a riveting biographical drama but
also provides poignant commentary on the nature of human connection in the digital age.
With its stellar cast, sharp dialogue, and Fincher's masterful direction, the film remains a
thought-provoking exploration of the high-stakes world of Silicon Valley and the profound
impact of social media on contemporary society.

SubQuestion No : 11
Q.11 What is the tone of the passage?
Ans X 1. Analytical

«# 2. Enthusiastic
25 3. Neutral
25 4. Critical

Question ID : 630680938509

Option 11D : 6306803678453
Option 2 ID : 6306803678452
Option 31D : 6306803678454
Option 4 ID : 6306803678451
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

"The Social Network," directed by David Fincher and released in 2010, is a cinematic
masterpiece that chronicles the tumultuous rise of Facebook and its enigmatic founder, Mark
Zuckerberg. The film, based on Ben Mezrich's book "The Accidental Billionaires," captures the
essence of the internet age and the complexities of friendship, betrayal, and ambition. Jesse
Eisenberg delivers a compelling portrayal of Zuckerberg, showcasing his genius and
interpersonal challenges. The screenplay, penned by Aaron Sorkin, weaves a narrative that
explores the legal battles and personal conflicts surrounding the creation of the social media
giant. The film delves into the dynamic relationships between Zuckerberg, Eduardo Saverin
(played by Andrew Garfield, and Sean Parker (portrayed by Justin Timberlake). It skilfully
navigates the ethical dilemmas and moral ambiguities that accompany the pursuit of success
in the tech industry. "The Social Network" not only serves as a riveting biographical drama but
also provides poignant commentary on the nature of human connection in the digital age.
With its stellar cast, sharp dialogue, and Fincher's masterful direction, the film remains a
thought-provoking exploration of the high-stakes world of Silicon Valley and the profound
impact of social media on contemporary society.

SubQuestion No : 12
Q.12 Which of the following can be inferred from the passage?

Ans o 1."The Social Network" explores ethical dilemmas in the pursuit of success in the tech
industry.

5 2. The film primarily focuses on legal battles in the tech industry.
#5 3. The passage suggests that the film lacks a compelling narrative.

7% 4.The portrayal of Mark Zuckerberg in the film emphasizes his flaws and failures.

Question ID : 630680938511

Option 11D : 6306803678461
Option 21D : 6306803678459
Option 31D : 6306803678462
Option 41D : 6306803678460
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

"The Social Network," directed by David Fincher and released in 2010, is a cinematic
masterpiece that chronicles the tumultuous rise of Facebook and its enigmatic founder, Mark
Zuckerberg. The film, based on Ben Mezrich's book "The Accidental Billionaires," captures the
essence of the internet age and the complexities of friendship, betrayal, and ambition. Jesse
Eisenberg delivers a compelling portrayal of Zuckerberg, showcasing his genius and
interpersonal challenges. The screenplay, penned by Aaron Sorkin, weaves a narrative that
explores the legal battles and personal conflicts surrounding the creation of the social media
giant. The film delves into the dynamic relationships between Zuckerberg, Eduardo Saverin
(played by Andrew Garfield, and Sean Parker (portrayed by Justin Timberlake). It skilfully
navigates the ethical dilemmas and moral ambiguities that accompany the pursuit of success
in the tech industry. "The Social Network" not only serves as a riveting biographical drama but
also provides poignant commentary on the nature of human connection in the digital age.
With its stellar cast, sharp dialogue, and Fincher's masterful direction, the film remains a
thought-provoking exploration of the high-stakes world of Silicon Valley and the profound
impact of social media on contemporary society.

SubQuestion No : 13
Q.13 How is the passage structured?
Ans X 1. Chronological

7% 2. Compare and Contrast
w” 3. Descriptive
25 4. Cause and Effect

Question ID : 630680938513

Option 11D : 6306803678467
Option 2 ID : 6306803678469
Option 31D : 6306803678470
Option 4 ID : 6306803678468



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

"The Social Network," directed by David Fincher and released in 2010, is a cinematic
masterpiece that chronicles the tumultuous rise of Facebook and its enigmatic founder, Mark
Zuckerberg. The film, based on Ben Mezrich's book "The Accidental Billionaires," captures the
essence of the internet age and the complexities of friendship, betrayal, and ambition. Jesse
Eisenberg delivers a compelling portrayal of Zuckerberg, showcasing his genius and
interpersonal challenges. The screenplay, penned by Aaron Sorkin, weaves a narrative that
explores the legal battles and personal conflicts surrounding the creation of the social media
giant. The film delves into the dynamic relationships between Zuckerberg, Eduardo Saverin
(played by Andrew Garfield, and Sean Parker (portrayed by Justin Timberlake). It skilfully
navigates the ethical dilemmas and moral ambiguities that accompany the pursuit of success
in the tech industry. "The Social Network" not only serves as a riveting biographical drama but
also provides poignant commentary on the nature of human connection in the digital age.
With its stellar cast, sharp dialogue, and Fincher's masterful direction, the film remains a
thought-provoking exploration of the high-stakes world of Silicon Valley and the profound
impact of social media on contemporary society.

SubQuestion No : 14
Q.14 What is the antonym of the word “compelling” as used in the passage?
Ans X 1.Boring

7% 2. Ordinary
25 3. Dull

4" 4. Unconvincing

Question ID : 630680938512

Option 11D : 6306803678465
Option 2 ID : 6306803678464
Option 31D : 6306803678466
Option 4 ID : 6306803678463
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

"The Social Network," directed by David Fincher and released in 2010, is a cinematic
masterpiece that chronicles the tumultuous rise of Facebook and its enigmatic founder, Mark
Zuckerberg. The film, based on Ben Mezrich's book "The Accidental Billionaires," captures the
essence of the internet age and the complexities of friendship, betrayal, and ambition. Jesse
Eisenberg delivers a compelling portrayal of Zuckerberg, showcasing his genius and
interpersonal challenges. The screenplay, penned by Aaron Sorkin, weaves a narrative that
explores the legal battles and personal conflicts surrounding the creation of the social media
giant. The film delves into the dynamic relationships between Zuckerberg, Eduardo Saverin
(played by Andrew Garfield, and Sean Parker (portrayed by Justin Timberlake). It skilfully
navigates the ethical dilemmas and moral ambiguities that accompany the pursuit of success
in the tech industry. "The Social Network" not only serves as a riveting biographical drama but
also provides poignant commentary on the nature of human connection in the digital age.
With its stellar cast, sharp dialogue, and Fincher's masterful direction, the film remains a
thought-provoking exploration of the high-stakes world of Silicon Valley and the profound
impact of social media on contemporary society.

SubQuestion No : 15
Q.15 What is the central theme of the passage?
Ans X 1. Cinematic Techniques in "The Social Network"

7% 2. Legal Battles in the Tech Industry
25 3. Betrayal in Silicon Valley

«# 4. The tumultuous story of the rise of Facebook

Question ID : 630680938510

Option 11D : 6306803678458
Option 2 ID : 6306803678457
Option 31D : 6306803678455
Option 4 ID : 6306803678456
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Google, a tech giant founded in 1998 by Larry Page and Sergey Brin, has become
synonymous with internet search and digital innovation. Initially conceived as a search
engine, Google rapidly evolved into a multifaceted global powerhouse, offering a diverse array
of products and services.

Renowned for its commitment to organizing the world's information and making it universally
accessible, Google's search engine dominates the internet landscape. Beyond search, the
company has introduced transformative technologies such as Gmail, Google Maps, and the
Android operating system, reshaping how individuals interact with information and
technology.

Google's corporate culture, characterized by a focus on creativity and a relentless pursuit of
excellence, has spurred groundbreaking projects like Google Glass, Waymo's self-driving cars,
and the open-source Android platform. The company's headquarters, known as the
Googleplex, stands as a symbol of its innovative spirit.

With a mission to innovate for the benefit of humanity, Google continues to push the
boundaries of technology, artificial intelligence, and internet services. Its impact on the digital
era is profound, cementing Google as a linchpin in the evolution of the modern tech
landscape.

SubQuestion No : 16

Q.16 What is the antonym of the word “renowned” as used in the passage?

& 1. Mediocre

X 2. Familiar

5 3. Ordinary

" 4. Unknown
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938506

6306803678444
6306803678445
6306803678446
6306803678443
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Google, a tech giant founded in 1998 by Larry Page and Sergey Brin, has become
synonymous with internet search and digital innovation. Initially conceived as a search
engine, Google rapidly evolved into a multifaceted global powerhouse, offering a diverse array
of products and services.

Renowned for its commitment to organizing the world's information and making it universally
accessible, Google's search engine dominates the internet landscape. Beyond search, the
company has introduced transformative technologies such as Gmail, Google Maps, and the
Android operating system, reshaping how individuals interact with information and
technology.

Google's corporate culture, characterized by a focus on creativity and a relentless pursuit of
excellence, has spurred groundbreaking projects like Google Glass, Waymo's self-driving cars,
and the open-source Android platform. The company's headquarters, known as the
Googleplex, stands as a symbol of its innovative spirit.

With a mission to innovate for the benefit of humanity, Google continues to push the
boundaries of technology, artificial intelligence, and internet services. Its impact on the digital
era is profound, cementing Google as a linchpin in the evolution of the modern tech
landscape.

SubQuestion No : 17

Q.17 What is the central theme of the passage?

& 1. The history of Google
X 2. The products of Google
5 3. The culture of Google

" 4. The innovation of Google

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938504

6306803678435
6306803678437
6306803678438
6306803678436
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Google, a tech giant founded in 1998 by Larry Page and Sergey Brin, has become
synonymous with internet search and digital innovation. Initially conceived as a search
engine, Google rapidly evolved into a multifaceted global powerhouse, offering a diverse array
of products and services.

Renowned for its commitment to organizing the world's information and making it universally
accessible, Google's search engine dominates the internet landscape. Beyond search, the
company has introduced transformative technologies such as Gmail, Google Maps, and the
Android operating system, reshaping how individuals interact with information and
technology.

Google's corporate culture, characterized by a focus on creativity and a relentless pursuit of
excellence, has spurred groundbreaking projects like Google Glass, Waymo's self-driving cars,
and the open-source Android platform. The company's headquarters, known as the
Googleplex, stands as a symbol of its innovative spirit.

With a mission to innovate for the benefit of humanity, Google continues to push the
boundaries of technology, artificial intelligence, and internet services. Its impact on the digital
era is profound, cementing Google as a linchpin in the evolution of the modern tech
landscape.

SubQuestion No : 18
Q.18 How is the passage structured?
Ans & 1. Introduction - Body - Conclusion

X 2. Cause - Effect - Implication
5 3. Problem - Solution - Evaluation

X 4. Comparison - Contrast - Synthesis

Question ID : 630680938507

Option 11D : 6306803678447
Option 2 1D : 6306803678449
Option 31D : 6306803678448
Option 4 ID : 6306803678450
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A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Google, a tech giant founded in 1998 by Larry Page and Sergey Brin, has become
synonymous with internet search and digital innovation. Initially conceived as a search
engine, Google rapidly evolved into a multifaceted global powerhouse, offering a diverse array
of products and services.

Renowned for its commitment to organizing the world's information and making it universally
accessible, Google's search engine dominates the internet landscape. Beyond search, the
company has introduced transformative technologies such as Gmail, Google Maps, and the
Android operating system, reshaping how individuals interact with information and
technology.

Google's corporate culture, characterized by a focus on creativity and a relentless pursuit of
excellence, has spurred groundbreaking projects like Google Glass, Waymo's self-driving cars,
and the open-source Android platform. The company's headquarters, known as the
Googleplex, stands as a symbol of its innovative spirit.

With a mission to innovate for the benefit of humanity, Google continues to push the
boundaries of technology, artificial intelligence, and internet services. Its impact on the digital
era is profound, cementing Google as a linchpin in the evolution of the modern tech
landscape.

SubQuestion No : 19

Q.19 Which of the following can be inferred from the passage?

& 1. Google is a monopoly
X 2.Google is a public company
" 3. Google's objectives are directed at public benefit

X 4. Google is a secretive organization

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938505

6306803678439
6306803678440
6306803678441
6306803678442
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Google, a tech giant founded in 1998 by Larry Page and Sergey Brin, has become
synonymous with internet search and digital innovation. Initially conceived as a search
engine, Google rapidly evolved into a multifaceted global powerhouse, offering a diverse array
of products and services.

Renowned for its commitment to organizing the world's information and making it universally
accessible, Google's search engine dominates the internet landscape. Beyond search, the
company has introduced transformative technologies such as Gmail, Google Maps, and the
Android operating system, reshaping how individuals interact with information and
technology.

Google's corporate culture, characterized by a focus on creativity and a relentless pursuit of
excellence, has spurred groundbreaking projects like Google Glass, Waymo's self-driving cars,
and the open-source Android platform. The company's headquarters, known as the
Googleplex, stands as a symbol of its innovative spirit.

With a mission to innovate for the benefit of humanity, Google continues to push the
boundaries of technology, artificial intelligence, and internet services. Its impact on the digital
era is profound, cementing Google as a linchpin in the evolution of the modern tech
landscape.

SubQuestion No : 20
Q.20 What is the tone of the passage?
Ans X 1. Sarcastic

X 2. Critical
X 3. Argumentative

" 4. Descriptive

Question ID : 630680938503
Option 11D : 6306803678434
Option 2 ID : 6306803678431
Option 31D : 6306803678433
Option 4 ID : 6306803678432
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Question ID : 630680938746
Option 11D : 6306803679366
Option 21D : 6306803679363
Option 31D : 6306803679365
Option 4 ID : 6306803679364
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Question ID : 630680938682

Option 11D : 6306803679119
Option 21D : 6306803679120
Option 31D : 6306803679122
Option 4 ID : 6306803679121
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Question ID : 630680938929

Option 11D : 6306803680059
Option 2 ID : 6306803680060
Option 31D : 6306803680061
Option 4 ID : 6306803680062
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Question ID : 630680938996

Option 11D : 6306803680317
Option 21D : 6306803680315
Option 31D : 6306803680318
Option 41D : 6306803680316
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Question ID : 630680938973
Option 11D : 6306803680230
Option 2 ID : 6306803680227
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Option 41D : 6306803680228
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Question ID : 630680938776
Option 11D : 6306803679476
Option 21D : 6306803679478
Option 31D : 6306803679477
Option 4 ID : 6306803679475
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Question ID : 630680938857
Option 11D : 6306803679784
Option 21D : 6306803679785
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Option 41D : 6306803679783
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Question ID : 630680938819

Option 11D : 6306803679639
Option 21D : 6306803679640
Option 31D : 6306803679641
Option 41D : 6306803679642
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Question ID : 630680938928

Option 11D : 6306803680058
Option 21D : 6306803680057
Option 31D : 6306803680056
Option 4 1D : 6306803680055
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Question ID : 630680938693

Option 11D : 6306803679162
Option 21D : 6306803679159
Option 31D : 6306803679161
Option 41D : 6306803679160
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Question ID : 630680938822

Option 11D : 6306803679651
Option 21D : 6306803679653
Option 31D : 6306803679654
Option 41D : 6306803679652
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Question ID : 630680938950

Option 11D : 6306803680141
Option 2 ID : 6306803680140
Option 31D : 6306803680142
Option 4 ID : 6306803680139
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Question ID : 630680938722

Option 11D : 6306803679271
Option 21D : 6306803679274
Option 31D : 6306803679273
Option 4 ID : 6306803679272
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Question ID : 630680938941

Option 11D : 6306803680103
Option 21D : 6306803680106
Option 31D : 6306803680104
Option 4 1D : 6306803680105
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Question ID : 630680938732

Option 11D : 6306803679309
Option 21D : 6306803679310
Option 31D : 6306803679307
Option 41D : 6306803679308
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Question ID : 630680938988

Option 11D : 6306803680283
Option 21D : 6306803680285
Option 31D : 6306803680284
Option 41D : 6306803680286
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Question ID : 630680938949
Option 11D : 6306803680137
Option 21D : 6306803680136
Option 31D : 6306803680135
Option 4 ID : 6306803680138
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Question ID : 630680938849
Option 11D : 6306803679755
Option 2 ID : 6306803679757
Option 31D : 6306803679758
Option 4 ID : 6306803679756
Q.19 fA=fafEd are 7 Ry mv R @ & fog sfRa ardaifes Rtwor & ag9 #R-
T2 3Tt uaT el R T uE 2
Ans X 1.5
X 248
o 3. I8 TSH
X 4. TSTeT
Question ID : 630680938903
Option 11D : 6306803679962
Option 21D : 6306803679959
Option 31D : 6306803679961
Option 41D : 6306803679960
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Q.20 fA=faf@d uy &, IR Reeal 3 |, 39 fAerea &1 == R St € 71 wlent=h o1 Igt aref arer
faerea 21

3 & 3 T[Sferal & am
Ans X 1. 9% foheg eFam=
o 2. ST AT
X 3. 1 O fauf ar e gier
X 4. T awg i et a1 7 g

Question ID : 630680938781

Option 11D : 6306803679495
Option 21D : 6306803679496
Option 31D : 6306803679498
Option 4 ID : 6306803679497

Q.1 e g §, 39 areisr o ugefag oad g siyifeat & aft i med a8 & at 'wE
e 7 & 1 g Rfg

3R 1S Tt T=u= @ @ o1y 7+ et s @« # varmfRa/ & @t & ok 39 duw 4 daar
g ot wfas 7 at g faeneff,/ v agm f@erdl & &u 9 sra-f ug== g1 Gehrar 21

Ans X 1.3 AT 8 ok 38 Tw § HEan g |t widsy | ot gen e,
5 2. s mg fEerdl & T H org uge S Tehar &1
W 3SR TEE
75 4. 3R IS SeaT I9u- § g1 31U 7 fohedt ueh @t & yahrfaa

Question ID : 630680938951

Option 11D : 6306803680144
Option 2 ID : 6306803680145
Option 31D : 6306803680146
Option 4 ID : 6306803680143

Q.2 Pr=afafdd araa & 39 ¥4I & ugag e &S gl &), alk &1 s ad a A s ik
¢ &' 1 7= RS

HEE Fl aoig & e AR ugeA & g a2 ff 98 @dig urd o 7 @ oot uRaR & g e
e T @A ek A S[eT Ut 1

Ans o 1. TETE Y aoig T TG AN U & forg o of gt
25 2. @le urd € ofiR 7 € orue uRaR & oy ueh aad &1
X 3. @ & § eI U &
X 4 wEARTEE

Question ID : 630680938868

Option 11D : 6306803679827
Option 21D : 6306803679828
Option 31D : 6306803679829
Option 4 ID : 6306803679830
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Q.3 f=afaf@e el d 9, 39 faesa @1 aa w1 st fRw e 21z o1 sremreff a8 & -

3t
Ans X 1. s3SI
X 2.3

K3 W
o 4 TR

Question ID : 630680938875
Option 11D : 6306803679856
Option 21D : 6306803679857
Option 31D : 6306803679855
Option 41D : 6306803679858
Q.4 fFr=faf@d usr d aR faereal & @, 39 faerea o1 == R Sit fRY 7Y 2reg & gafgar=h e @1 o
fRrerea i 81
St
Ans o 1. 3TER0T
& 2. 915
< 3. 3iquf=
X 4. foqa
Question ID : 630680938753
Option 11D : 6306803679393
Option 21D : 6306803679394
Option 31D : 6306803679392
Option 41D : 6306803679391
Q.5 F=faf@d usr d, ar faereal & @, 39 farered o1 o= &R Sit RT 71T 2reg & 90w ®u arer It
faerea g1
T
Ans X 1.@ife
o 2. FaTRET
< 3. qfder
4 Fad
Question ID : 630680938997
Option 11D : 6306803680321
Option 2 ID : 6306803680319
Option 31D : 6306803680322
Option 41D : 6306803680320



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.6 F=fafEd ar el d |, 39 Reea o1 oa9 & 1t Ry 719 2158 &1 & a7 Fu 8l
uga
Ans X 1. ufosrn
X 2. vefeia
X 3. ufqareh
o 4. TAfATH

Question ID : 630680938914

Option 11D : 6306803680005
Option 2 ID : 6306803680006
Option 31D : 6306803680003
Option 4 ID : 6306803680004

Q.7 fa=fafaa A 4, 39 fAeea o1 @ w3 57t Ry 71 21eg 1 faeiw &1

argad
Ans X 1.Tif@®
o 2. 3fcTTa

X 3.
X 495

Question ID : 630680938838

Option 11D : 6306803679718
Option 21D : 6306803679716
Option 31D : 6306803679717
Option 4 ID : 6306803679715

Q.8 fA=fafad us A, aR el & @, I e @1 7a9 & 51t R 71 2reg & et =u arer
g fRAerea TE &1

RN

Ans X 1.=fgmm
& 2.7
5 3. qmyed
K 4. 3R

Question ID : 630680938750

Option 11D : 6306803679380
Option 21D : 6306803679379
Option 31D : 6306803679382
Option 4 ID : 6306803679381
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Q.9 f=Afafaa ar el 7 |, 39 e &1 9= &2 St Ry 71 21z & fasiw 2reg a1 e &1

e
Ans X 1.¥&q

X 2.9

75 3. "Hhed

o 4. e
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID

630680939002

6306803680341
6306803680342
6306803680339

: 6306803680340

Q.10 fR=fafaq us &, 9r el 7 @, 39 fAeea @1 997 w2 St Ry 71Q 21ez & vafgar=h e &1 98

R agig
EECl
Ans X 1. faseft
o 2.55
X 3. fagd
&< 4. afEr
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938959

6306803680176
6306803680178
6306803680177
6306803680175

Comprehension:

12 feq M3 Terie H go s BI 83 Y 8, Udeh Sigeds o A IR fadhed T T 81 39 Terisr ht
YR U 3R IR faehed §  gatd IR arell faehed I
TETReh fUeT § STH1 i ATUR & SR Rigll a1 Uicharait o fRreror f&ar Sirar &1 fhedt g
frepra & 39 231 Y A e ot g gidT & | T Ot fven ud uferor & arerd g St
hdehd el 31T ahref A ST § SETERUT & oIy SMECIeng U uifereferian A &t ST areft frem g1
TRY&T o1 H= I52T B ol AT GAT SR IhT I ST B dt 39 27 el faare
faffya grar €1 e sro= arafaes Ieal ofik wea Y uiftg aoft = Tepdt § o9 ag e

f2rem gt1 fAer 3R g Shifaer =Y 2 & <) ufge & | fAem & 5= Shfaetus
g gt gaar fom fem &1 T g1 # 18T TE0T e BT Se.RT FAISIA AT T

SubQuestion No : 11
Q.11 foreft a1 & e & 39 221 Y Afds sga=n ar Hg gt &l

Ans o 1. TR

X 2.7

X 3.@H

X 4. feR
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938934

6306803680077
6306803680076
6306803680075
6306803680078
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Comprehension:

2 Ry 7 wwerier # 5 e ©1 3 1Y 8, v Sree & e IR fadhed e man &1 &9 ey At
HTYER U¢ SR IR faehed # ¥ gaid IR arelT faehed g
TaTAes e & sl 6t AR & snURYd Rigrl dur ufsharsit o fRieror far srar 81 e 2ar s
forenTg o 39 221 Y e e & g gidr g | aur ot frem vd ufveror & arad g st
hRichd! chl 3109 &g # T & ITex0T & forg smeétans ud uiferdfares & & S aref) e &1
fR1&T T HT I22T BT ol AT AT 3R IhT 17 ST gt dt 3 37 T [aehrg
fafga glar €1 frem orum arafaes Seeal ok weat &Y wifta quft = Terd) & ST ag frem

f2rem g1 fAer ik caaar Sfifgenr ®dY 2 & <t ufge € 1 e & oA Shfaetorsi
Ty a1, aar foqr e &1 U o1 H 18T TE0T het Rl I TSI heT T

SubQuestion No : 12
Q.12 Tt O« farem gd uferor @ arerdf @ it srferaf @t g st & AT 21

Ans X 1. s1fgor
o 2. fgo
X 3. fawer
X 4. R@rar
Question ID : 630680938935
Option 11D : 6306803680082
Option 21D : 6306803680080
Option 31D : 6306803680079
Option 4 ID : 6306803680081
Comprehension:
I g M2 Terie H e e Bi 53 U 8, v erfede & A IR fadhed T T 81 &9 merier
Y U¢ 3R IR feped # ¥ FaTad IR arell faehed T |
ATaTRich fr8T # BT et ATIR & TR Rigr=it Jur ufsharsi & feror feam Sirar g1 freht darch
forenrar & 39 221 Y A&y et @ g gidT & | JuT Ot fYer ud uferor & qrend § St
hRfehdf ehl 31U sty H T & ISTEXUT o oIy SMSEISTS Ud UifereferTen & & S arett A& g1
fRAe1 BT R 32T BT ot AT AT 3R ITeht I ST Bt 39 27 &l faarg
ffa glar &1 frem orum arafaer Igeat 3k et &Y mift auft = gend! € ST ag frem
fRrem gt fRrer SR saaam SHfade Tt 2y & &t ufgy & | fven & fomr Shfqetarst=
Ty 7T, gar foqr e &1 Ui 71 7 fA8T TE0T het Rl Ig=T TS heAT AT
SubQuestion No : 13
Q.13 A& o1 G0 I 2T S ht AGETT AT 3R IR I 9T @Y At 39 2271 T Rt
fAfga gar g
Ans o 1. SfifSeRtuTSie
25 2. Tareff
X 3. waest
K 4. RM
Question ID : 630680938936
Option 11D : 6306803680083
Option 21D : 6306803680086
Option 31D : 6306803680085
Option 41D : 6306803680084
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Comprehension:
2 g 72 wrerier # 5 e ©1 3 1Y 8, v sree & e IR fadhed e man &1 &9 eyt At
HTYER U¢ SR TR faehed § § gaid IR arelT fadhed g4
T e & sl 6t AR & sneRYd Rigrl dur ufsharsit o fRyeror far srar 81 e 2ards
forenTg o 39 221 Y e eI & g gidr g | aur ot frem vd ufveror & arad g st
hRiehd! chl 310 &g # T & I3Tex0T & forg smeétans ud uiferdfares & § S aref) e &1
fR18T T HT I22T BT ol AT AT 3R IRt I ST gt dt 39 37 &l [aehrg
ffea glar €1 frem orum arafaes Seeal ok weat &Y wifta quft = Terd) & ST ag frem

f2rem g1 fAer ik caaar Sfifeenr =Y 2 & 2 ufgw € 1 e & fomr Shfaetorsi
Ty a1, aar foqr e &1 U i1 H fRU8T TE0T het Al I TS heT T

SubQuestion No : 14
Q.14 et 3u= arRafaes 2l 3k el Y mfty aoft R gerdt & s1a ag e faremgh
Ans o 1. @RS

25 2. urafors
X 3. 3R
X 4 adftaeft
Question ID : 630680938937
Option 11D : 6306803680090
Option 21D : 6306803680087
Option 31D : 6306803680089
Option 41D : 6306803680088
Comprehension:
I g M3 Terie H e e Bi 53 U 8, U Srgeds o A IR fadhed T T 81 59 Terier
AHYdeh U¢ 3R IR feped # ¥ FaTad IR arell faehed T |
TaTRich fr8T & BT et ATIR o TR Rigr=it Jur ufsharsi & freror feam Sirar g1 freht derch
forenrar & I 221 Y e et @ g gidT & | JuT ULt fYer ud uferor & qread § St
hrfehd( ehl 31U sty | T & ISTERUT o oIy SMEENSTS Ud UifereferTen & & S arett A& g1
fRAe1 BT R 32T BT ot AT AT SR IFeht I ST Bt 9 27 &l faarg
ffea giar &1 frem orum arafaer Igeat ok et hY mift auft ar erd! & ST ag frem
fRrem gt fRrer SR saaam SHfae Tt 2u & &t ufgy & | fven & fomr Shfaetarst=
Ty g1, g foqr e &1 Ul o 7 fA8T TE0T het Rl I TS AT AT
SubQuestion No : 15
Q.15 et & fomr Shfaertursia Gywea =8, =aaar o= fien gl
Ans X 1. 37efgul
X 2. gud
o 3. ad
X 4. Tmd
Question ID : 630680938938
Option 11D : 6306803680093
Option 2 ID : 6306803680091
Option 31D : 6306803680092
Option 4 ID : 6306803680094
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Q.16

Ans

Comprehension:

A1 feq T TreriRT Sl eYden U¢ SR 39¢h SITUR WR U &1 SR al

BHR T AR hl TP, STehdl H YehdT UR STETRA &1 ‘SehdT H TehdT' Udh T &1 6l dich T8 9 42T
hT Tepfd SR foRmad R O aRE AN &1 &1 YR fa%y o et U= S7ut TR GfR Srpdt Ueepfal et
JfAe o Bl gy 8| HI =l {iTetentat 3R fafesr dmarsa e g der 3ot wuRT 3iR snifaea & forg
AR 361 6| 8 faswm g1 8 fon gvR 321 A 5 fafeart &t et ok a1fafd & =0 # omm @8t @rTd
foran 361 & &7 IR 3 TTel deh 1T fohaT | &g | fafeen Y gqeiifa &t awig @ vRa = siehdT & Tehar
& 2 AR IRt TgT & ST & forg FoTaR e | 39 21 &l Tgeg, Teepfal gaeh! fReueha, T 3k
Tfle <l Tt & +ft 5x X 7o Thelt §5 &1 IR hi TEWRIT 31T 20 chl ST ST STTehtes &1 TRd |
Wiehd™ &1 g1 - aret Tt Afch TTHTT STERUT ST UTA e S8 [o1Q e HaeT-eh HaH-ghd &g
Q& fSTehT UTe™ a1 YR S AR ohl Taei-ch haied g it STehT UTeT -Tg! chedl Ich foTq T8t aht
araTferent gRT &€ FaffRa fohg 7 &) v & F+ft avif & forg Tmm srga-areawn st it € S 39
U AR o AfARRI Al T FU T GRET Ht g

SubQuestion No : 16
ST h TR gAR 321 7 fAfkert ot ot @ o+ & g wereR o=l foram?
o 1. 3T Geifcen it & RoT

X 2. 37 9 T T & RO

75 3. 3Tch STIRYUT & HROT

25 4. IR ST & HROT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938924

6306803680040
6306803680042
6306803680041
6306803680039

Q.17

Ans

Comprehension:

12 g 73 TTerier Rt eATFYdeR UG SR $6eh SR TR U I IR &

TR 237 R I TR(d, SFchdl & TehdT TR SHTRA &1 ‘SFchdl & YehdT' Yeh Te& 1 g1 fceh g 39 48T
Y TEpfY R faRTd R gt avE AR 1T &1 RS sy & IRt UR STt TR SR ST TXpfa Y
Jffe o1U Bls §Y 8| HId 9t  qiTerentat SfR fafesr amamsa e ag a1 Srait wroRt ofR snifrea & forg
AAER 36T &1 I faswr 8 ¢ 136 gvR a3 o fafeart o aamumdt ik aifafY & w0 # srom a8t @rma
ohaT 361 &1 BH TR 3 TTcl deh 1T ohdT | ST& | faifeeit &t geriifal el ao1g & 9IRd = STHchdT A Yehdl
& &2 IR ITh! TgT T ST & foIg AoTeR e | 39 30 hl TYg Tepicl $6eh! fRIeuehaT, T 3R
Tfler <hl &t &+ gx @ Ieh Thelt g3 &1 VR chi TPl =T 2T chl STUET A 3MTehtieh &1 YRd H
iehe &1 T8l @ aret ff erfth TIETRT STTERT Sl TR R 59k foly §® Taenfae Hem-ahr sy
1Y & fSTehT UTe™ et R 3 AR ohl TaelTHh thaied g STt STehT Ul -Tg! chedl I9ch forg T8t h
grgutierent gRT &8 Faffa fong 7g 8| wRd & T+t it & g Tam drge-aaea st Tt § S 59eh
U TR o SAfARRY hl T T T GReT heelt g

SubQuestion No : 17

frafafEa or el & @, 39 faarea &1 =g= &2 it 27 71 21eg 1 yafaar=h a8 &
AfdpR
X 1. fAsrE
o 2. T
& 3.ma
X A @i
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938926

6306803680047
6306803680048
6306803680050
6306803680049
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Q.18

Ans

Comprehension:

A9 feq T TreriRT Al eTYdeR Ug SR 39 STYR UR U T SR al

BHR T AR hl TP, STehdl H YehdT UR SR &1 'SehdT H TehdT' Udh AT B 6l dich T8 39 42T
T Tepfd SR foRmad R O aRE AN &1 &1 YR faey o et U= S7u TR 3fR Srpdt Ueepfay et
JfAc o1 Bl gy 8| HI =l qiTerentat SR fafesr dmarsa e g der 3rut wuRT 3iR sniforea & forg
AR 361 6| T8 fasrm g1 8 fon gvR 321 A 5 fafeart & aamordt ok a1fafd & =9 # sme @t @rTd
foram 361 & &7 IR 3 TTel deh 1T fohaT | &g | fafeen Y gqefifa &t awig @ vRa = siehdT & Tehar
& 2l IR I3R! TBT & ST & el ASTeR e | 59 421 i G5, Teepicl g9eh! fRIeueha,, T 3R
Tfla <l It & +ft ox ¥ 7o Thelt §3 &1 IR hi TXWRIT 31T 20 ohl ST ST STTehtes &1 9TRd |
Wiehd™ &1 81 - aret It ATch TTHIT STTERUT ST UTeH e S8 [o1Q $He HaeT-dh HaH-ghd &g
Q& S TehT UTe™ @t YR S AR ohl Taei-ch haled 8| it STehT UTeT -Tg! chedl Ich foTq T8t ht
araTferent gRT &€ FaffRa fovg 7 &) v & F+ft avif & forg Tam srga-areawn st i € S 39
U TR o AfARRT Al T FU T GRET Het g

SubQuestion No : 18
ITERT & IR HRa # rauTfort gR1 &3 frass forg Puffva frar man &2
25 1. St 37 Bigae 7 Y

X 2. it ot fam ot uter el

75 3. St gHT 32T BISHR ST &

o 4. STt A s ureH T e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938925

6306803680043
6306803680046
6306803680044
6306803680045

Q.19

Ans

Comprehension:

12 feq 73 TTerier vt eATFYdeR UG SR 39eh STHR TR U &l IR &

BAR 237 R I TR(d, SFchdl & TehdT TR SMTRA &1 ‘SFchdl & YehdT' Yeh Te& 1 g} dfeth g 39 48T
Y TEpfY R faRTa R gt avE AR AT &1 RS frsy & IRt UR STt TR SR ST Twpfa Y
Jffe B1U Bls §Y 8| HId 9t  qiTerentat SfR fafesr ammsg e ag a1 Srait uroRT ofR snifrea & forg
AAER 36T &1 I fasw 8 & 136 gvR 3 3 o fafeart o amumdt ik sifafY & w0  srom a8t @rma
ohaT 61 &1 BH TR 3 TTcil deh 1T ohdT | ST& | faifeart &t geriifal el aoig & 9IRd = STHchdT A Yehdl
& &2 AR ITh! TgT T ST & foIg ASTeR e fAT| 3 37 Al 5 Tepicl $6eh! fRIeuehaT, T 3R
Tfter chl &t & I gx @X Ieh Thelt g3 &1 WRA chi Tl =T 2T chl STUET A 3MTehtieh &1 YRd H
Aiehes &1 T8l @ aret ff crfth TRy STTERT I UTe R 59k foly §® Taenfae Ham-ahr sHg
Y & fSTehT UTe™ et R 3 AR ohl UaeTHh thaied g STt ST Ul -Tg! chedl I9ch forg T8t ht
grgutierent gRT &8 FaffRa fong 7g 8| wRd & T+t it & g Tam Srge-aaea st T § S g9eh
U TR o SAfARRY hl T T T GReT heelt g

SubQuestion No : 19

9 313G T IJugh 2fifes-

o 1. BRI 3 RA

X 2. o8 depfa

& 3. gt g fafesr amarsa

X A FEma @
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938923

6306803680035
6306803680038
6306803680037
6306803680036
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Comprehension:

A9 feq T TreriRT Sl eTYdeR U¢ SR 39 SITYR UR U T SR al

BHR M AR hl TP, STehdl H YehdT UR SR &1 'STchdT H TehdT' Ueh AT &1 6l dich T8 39 42T
hT Tpfd SR foRmad R O =g AN &l &1 YR faey o et U= S7u TR ofR Srpdt Ueepfay et
JfAe o Bl gy 8| H =l qiTerentat 3R fafesr dmarsa e g der Sruit uuRT 3iR snifoea & forg
AR 36T &1 T8 faswm g1 8 fon gvR 321 A 5 fafeart &t aamordt ok a1fafd & =0 # smm @8t @rTd
foran 361 &) &7 IR 3 TTel deh 1T fohaT | &g | fafeen Y geiifa &t awig @ vRa = siehdT & Tehar
& 2 AR IRt TgT & ST & forg FoTaR e | 39 21 &l g, Teepfal g9eh! fRIeueha, T 3R
Tfle <l gt & +ft g ¥ e Thelt §8 &1 R hi TXRIT 317 21 ohl ST ST STTehteh &1 TRd |
Siehd™ &1 @1 T aret It ATch TTHIT STERUT ST UTA e S8 [o1Q $He HaeT-dh HaH-ghd a-1g
Q& fSTehT UTe™ @t YR S AR ohl Taei-ch haied 8| it STehT UTeT -Tg! chedl Ich foTq T8t ht
raTferent gRT &€ FaffRa fovg 7 &) wrRa & Foft it & forg Tmm srga-arawen st i € S 39
U TR o AfARRY Al T FU T GRET At g

SubQuestion No : 20
Q.20 fA=fefad ar fRrereal # @, 39 fased o1 a9+ &< St g 71g 2reg o1 faeii g

=
Ans X 1. 3m9H
K 2. FreRo
o 3. 9igd
X 4. st

Question ID : 630680938927

Option 11D : 6306803680053
Option 21D : 6306803680052
Option 31D : 6306803680051
Option 4 1D : 6306803680054
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